
                             Installation Instructions
Rear Luggage Rack Extension R1150GS ADV

August 2003

Contains:
1 x Rear Luggage Rack Extension 4mm alum.
2 x Nylock nut M5
2 x Washer large M5
2 x Screw dome head M6 x 45
2 x Screw dome head M6 x 60
2 x Carriage bolt M5 x 16
2 x Spacer

TOURING   RALLYE   RACING    TECHNOLOGY

09-051-1101-1

Installation:

Remove the four bolts on the original 
rear rack.
Set the two black spacers in the 
recess of the front bores (A).
Now set the rear rack extension on 
the original rear rack.

Fasten the extension with M6x45 
dome head screws in the front (A) 
attachment points and with M6x60 
dome head screws on the back (B).

The rack extension is additionally 
secured with the two M5x16 carriage 
bolts, washers M5 and nylock nuts M5 
on the rear (C).

A - spacer+M6x45
B - M6x60
C - M5x16+washers M5+nut M5

These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

A
C

C

A

B

B


